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Question 1

(a) Secondary growth

Cambium (menstem) Acc vascular cambium and cork cambium Rej. Either one alone.

(b) Synthesis of carbohydrates 

Palisade mesophyll / spongy mesophyll

(c)      Endodermis
Question 2

(i) Ultra filtration 

(ii) (selective) reabsorption

Question 3

(a)
(i) This is the contractor and hardening of the liver due to death of 
     cells.

(ii) Ingestion of toxic substances/ chemicals/ alcohol/ infection by 
    bacteria/viruses/ parasitic worms 

b) Bordetella pertussis 
Question 4

a) The sugar crystals dissolved in the water fil surrounding the cells forming a hypertonic solution, the water molecules moved from the adjacent cells into the solution by osmosis, leading to appreciate of the liquid in the cavity.

b) No sugar crystals in the cavity to form a strong / hypertonic solution that will draw in water from the cells; thus the liquid appears in the cavity.

Question 5

Peptide

Question 6

a) Chromosomes that are alike in appearance and length and carry similar genes. (Deny mark if any one quality is missing).

b) Independent assortment of homogenous chromosomes during meiosis.

Closing over

Fertilization/ mutation Environmental 

Question 7

a) Destruction  by natural calamities earthquakes

When some parts of or whole organisms decompose

When some parts of or whole organisms are savaged upon or eaten 

Not all remains had the right conditions for fossilization 

Only a few fossils have been discovered.

b) -
Gives evidence of (phylogenetic) relationship among organisms

·      Gives evidence of common anastry of organisms

-
Gives evidence of convergent / divergent evolution.

Question 8

Chromosomes arrange themselves at the equator of the spindle fibres attached to the fibres at the centromere; the centromeres split

Sister chromatids separate and move to the opposite poles of the cell;

Question 9

a) Adds to the bulk of food thus promoting peristalsis

b) Involved in metallic reactions as co-enzymes / influence intake of certain substances; e,g, vitamin D, influences the intake calcium’s 

c) Acts as a solvent / medium of transport of digestion products, provides a medium for enzymatic digestion of food/ is a reactant in hydrolysis of food substance.

Question 10

a) Lymphocyte (Reject white blood cell/ eucocyte)

b) (i) Stimulates the formation of anti-rhesus antibodies.

(iii) Causes agglutination/ clotting of the dibnor’s red blood cells

Question 11

a) Egestion us the removal of indigestion and absorbed materials from food vacuoles o the alimentary canals of organisms.

Excretion is the process by which waste products of metabolism are eliminated / removed from the body of organisms. 

b) If waste products were allowed to accumulate in the cells or body fluids/ tissues, they would become toxic / poisonous to the cells.

c) Production of large amount / volume of urine / dieresis

Frequent / chronic feeling of thirst.

Question 12

Processing /  modification of proteins (rej synthesis of proteins)

Synthesis of glycoproteins /synthesis of enzymes / lyesumes/ packaging and transport of glycoproteins / secretion of synthesized cellular products/ formation of secretory vesicles.

Question 13

a) Lens ciliary musles and suspensory ligaments 

b)  (i) cataracts 

(ii) short sightedness / myopia

14. a) female anopheles mosquito


Human beings/ monkeys/ birds.

     b) it leads to water pollution thus affecting / destroying other aquatic organisms.

15. 

	Aerobic respiration
	Anaerobic respiration

	The substrate is completely broken down to carbon (iv) oxide and water ; hence more energy
	The substrate is not completely broken down hence less energy 


16. a) presence of starch 

      b) the plant was kept in the dark (for 36-48 hours) to ensure that all the starch in the leaves is       used up. 

17. the number of dividing cells is low

      The cells have not yet adjusted to the surrounding / environmental factors

18. Palisade cells have large number of chloroplasts 

     (palisacle) cells are closely packaged for maximum sunlight absorption 

The cells are columnar / cylindrical with long axis perpendicular to the leaf surface for maximum sunlight absorption.

The palisade layer/ cells are located beneath the upper leaf epidermis for maximum sunlight absorption.

19. a) smooth/ unstriated / visceral 

      b) skeletal / striated / striped 

20. a) circulatory system in which the circulating / transport fluid contained in the general body cavity / coelom.

    b) the heart is 4 chambered with a septum separating deoxygenated blood in the right side from oxygenated blood in the left chambers.

21. cork cells

    Secondary cortex / parenchyma 

22. a) they grow close to the soil surface, to absorb water after a short or light shower of rain;

      b) lead to accumulation of water vapour / moisture in pit/ grass above the stomata thus creating a low saturated deficit / diffusion gradient; hence reducing transpiration rate;

23. a) (i) molar

          (ii) presence of three roots 

    b) has broad crown with cusps for grinding and crushing food.

24. photolysis / ATP synthesis

       Carbon(IV) oxide fixation / calvin cycle.

25. aves; body covered with feathers / have beaks// have hollows/ pneumatic bones/ scaly mind limbs/stenum enlarger to form a keel / forelimb.

Modified into wings

Monocotyledons 

Seeds with one cotyledon/ leaves with parallel veins; peticle modified to form a sheath / scattered arrangements vascular bundles in the stem/ pith absent/ vascular cambium absent/ floral parts in three or multiples of threes/ root system ….

26. a) used for treatment of malaria / added in drinks as a stimulant.

     b) used in treatment of leather/ manufacture of inks/ cosmetics/ henna/ nails/ hairs and feet decoration.

27. a) binary fission

     b) monoecious plants have / bear both male and female flowers on the same plant.

      Dicecicus plants have / bear either male or female flowers only.

29. treponema pallidum.

30. a) (i) sensory neuron

         (ii) cell body on a branch / off the axon/ both axon and Dendron are long  B
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